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1. (a) What is the true test of partnership ? Explain.
' (7%)
(b) Can a minor be admitted ‘to partnership ? If so,
what are his rights and liabilities during minority ?
(7%4)
OR
P.T.O.
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(a) Is it compulsory for a partnership from to get itself
registered ? Explain the consequences of non-
registration. (7'%)

{(b) What is meant by implied authority of a partner ?
What are the statutory restrictions on the implied
authority of a partner ? (7'2)
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2. (a)Distingnish between ‘dissolution of Partnership
firm’ and ‘dissolution of Partnership’. How can
a firm be dissolved with the intervention of the
court, : (3,7)

3) S is a partner in a firm. He gives notice of his
retirement to the other partners but do‘es not give
public notice of it. Thereafter, the firm borrows
¥5,000 from a banker and the banker is able to
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recover only ¥ 3,000 from the other partners. Can
the banker hold S liable for the balance of ¥ 2,000
due to him if he is (i) an active partner, or (ii) a
dormant partner ? (5)

OR
Write short notes on the following :
(i} Partnership at Will
(ii) Partner by holding out
(iii) Rights of outgoing Partner | (5;5,5)
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3. (a) Discuss the concept of limited liability partnership.
What are its salient features ? (7'4)

(b) Discuss the provisions of the LLP Act, 2008 in
respect of designated partners. Also state the
liability of the designated partners. (7%4)

OR

(a) Who can be a partner in 'a LLP ? What is the
minimum number of partners required for a LLP ?
Who ts disqualified to be a partner of LLP ?

(7'%)
(b) Distinguish between a company and a limited
liability partnership. - (7'%)
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4. (a) Discuss the requirements for incorporation of or
LLP. What is the effect of a registration of a

LLP? (7%4)

(b) Discuss the law and procedure for conversion of

a firm into a LLP. (7'4)
OR

‘Write short notes on the following :
(i) LLP agreement
(ii) Whistle Blowing
 (ifi) Financial Disclosures (5.5,5)
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5. (a) State the different modes of winding up of LLP.
~ What are the circumstances in which LLP may be
wound up by the Tribunal ? - (T%)

(b) What are the basic features of taxation of LLP in
India ? (7%4)

OR
Write short notes on the following:
(i) Naturc of LLP
(i) Incorporation document
(i) Extent and Limitation of Liability of LLP
partners ' (5,5,5)
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